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Department of Statistics
Stats 784 Data Mining

Mid-term test 2017: Friday 22™ September

Answer all 10 questions in the boxes provided. Keep your answers short and succinct. Each question
is worth 5 marks.

1. What s the difference between supervised and unsupervised learning?
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2. What is the difference between conditional and unconditional prediction error?
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What is leave-one-out cross-validation? How does it compare to other type of cross-
validation?
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4, Why is the 0.632 estimate a better estimate of prediction error than the training error?
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5. How do we adjust the complexity of a neural network?
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6. What does the parameter mtry do in a random forest? Why is it important?
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7. What is the difference between LDA and QDA?
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9. Whyis it important to standardise features when fitting neural networks and in ridge

regression but not in linear regression or logistic regression?
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10. Describe the main features of multiple imputation.
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